Combined Graduate Level Examination 2020 Tier-l

[Exam Date 17/08/2021
Exam Time 9:00 AM - 10:00 AM
Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning
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Question ID : 81616112409
Status : Answered
Chosen Option : 3
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Question ID : 81616113741
Status : Answered
Chosen Option : 2
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Status : Answered
Chosen Option : 1
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Chosen Option : --
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Question ID : 81616112426
Status : Answered
Chosen Option : 3
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Question ID : 81616113723
Status : Answered
Chosen Option : 2
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Status : Answered
Chosen Option : 4
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Question ID : 81616113518
Status : Answered
Chosen Option : 1

Q.10 f3u 7T fiwedl & & 98 wE g of fFufafad gaar & vafag (7) & R-_E w® sft?
24, 48, 51, 204, 209, ?
Ans X 1.416

X 2.215
o 3.1254

X 4.1047

Question ID : 81616114031
Status : Answered
Chosen Option : 2
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Question ID : 81616113530
Status : Answered
Chosen Option : 3
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Question ID : 81616112421
Status : Answered
Chosen Option : 2
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Question ID : 81616113531
Status : Answered
Chosen Option : 2
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Question ID : 81616113727
Status : Answered
Chosen Option : 1
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Question ID : 81616112412
Status : Answered
Chosen Option : 1
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Question ID : 81616113729
Status : Answered
Chosen Option : 3
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Question ID : 81616112413
Status : Answered
Chosen Option : 1
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Question ID : 81616113528
Status : Answered
Chosen Option : 4
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Question ID : 81616113522
Status : Answered
Chosen Option : 3
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Status : Answered

Chosen Option : 2
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Status : Answered
Chosen Option : 1
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Question ID : 81616114038
Status : Answered
Chosen Option : 1
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Question ID : 81616114021
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Chosen Option : 1
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Question ID : 81616114022
Status : Not Answered
Chosen Option : --

Section : General Awareness
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Chosen Option : 2

Q2 g A A HH-1, Ahg A (FT3e Te) T g ATH 82
Ans g 1. I (SXATIT)

X 2. T (@)

X 3. ol (BTIHHTS)

X 4. TR (Hi&wen)

Question ID : 81616114050
Status : Answered
Chosen Option : 1
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Question ID : 81616113746
Status : Answered
Chosen Option : 2
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Question ID : 81616113549
Status : Answered
Chosen Option : 1
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Question ID : 81616112446
Status : Answered
Chosen Option : 4
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Question ID : 81616112452
Status : Answered
Chosen Option : 3
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Question ID : 81616112439
Status : Answered
Chosen Option : 3
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Question ID : 81616112431
Status : Answered
Chosen Option : 3
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Question ID : 81616112443
Status : Answered
Chosen Option : 2
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Question ID : 81616114061
Status : Answered
Chosen Option : 4
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Chosen Option : 2
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Chosen Option : 4
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Chosen Option : 1
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Status : Answered
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Status : Answered
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Status : Answered
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Question ID : 81616112437
Status : Answered
Chosen Option : 2
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Question ID : 81616113553
Status : Answered
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Question ID : 81616113763
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude
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Question ID : 81616112372
Status : Answered
Chosen Option : 1
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Question ID : 81616113583
Status : Answered
Chosen Option : 4
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Question ID : 81616113569
Status : Answered
Chosen Option : 2
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Question ID : 81616113580
Status : Answered
Chosen Option : 3
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Question ID : 81616112456
Status : Answered
Chosen Option : 4
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Question ID : 81616112464
Status : Answered
Chosen Option : 2
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Question ID : 81616113990
Status : Answered
Chosen Option : 2




Q.8 fFrrmifea afe & v 77 w2 5 druet F 9 fBee-fies Rt & sewwe s T ot &
FEm w g §
aferr 7 sreTma FY 3R 3EF 9 fU v 9eT & 3w &)

A 36 48 59 57
B 45 54 55 48
= 55 36 56 51
D 45 48 55 53
E 48 44 52 55

e A At B & o I BRI &1 srewns Fi e ol # g §En, S B v C F
et o &1 AT e A g o S gear ¥ e gioed A £

Ans X1 24
X214
#3 5
x4 2

Question ID : 81616112983
Status : Answered
Chosen Option : 3
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Question ID : 81616113770
Status : Answered
Chosen Option : 1
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Question ID : 81616113773
Status : Answered
Chosen Option : 1
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Question ID : 81616113572
Status : Answered
Chosen Option : 3
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Question ID : 81616113578
Status : Answered
Chosen Option : 2
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Question ID : 81616114081
Status : Answered
Chosen Option : 3
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Question ID : 81616113992
Status : Answered
Chosen Option : 4
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Question ID : 81616114071
Status : Answered
Chosen Option : 4
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11 BT # 9 W T & 7 [V, 3H F H has BT F 0 H A 82

Ans X 1. 24
x2 11
X312
4 22

Question ID : 81616113573
Status : Answered
Chosen Option : 4
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Ans W R P
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Question ID : 81616113779
Status : Answered
Chosen Option : 4
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Question ID : 81616112468
Status : Not Answered
Chosen Option : ==
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DE, AF & TAT &1 I BE = 4 cm 3T EF = 6 cm &, & BC & &=1g (cm &) &9 &iI

Ans X1 15
x2 20
X3 30
¥4 25

Question ID : 81616112471
Status : Not Answered
Chosen Option : --

Q.20 A =1 160 km T g FT F H, B T gor A 8§ T AT FHEA T ¥ AW A AN TS F G
AT ¢, @ FH g F aw FAA A, 3W B A geen A 3 ger #fow wHw e g1 B #r A (kmvh H)
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Question ID : 81616113776
Status : Not Answered
Chosen Option : --
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Ans 1. 37
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Question ID : 81616113565
Status : Not Answered
Chosen Option : --
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Question ID : 81616114191
Status : Answered
Chosen Option : 4
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Question ID : 81616114086
Status : Not Answered
Chosen Option : --
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Question ID : 81616114075
Status : Not Answered
Chosen Option : --
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Question ID : 81616112981
Status : Not Answered
Chosen Option : --

Section : English Comprehension




Q.1 Select the most appropriate ANTONYM of the given word.

Slur
Ans X 1. Insult

¥ 2. Compliment
£5 3. Assortment
25 4. Mixture

Question ID : 81616114111
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate meaning of the given idiom.

Herculean task
Ans X 1. A job that requires a lot of talking and information

" 2. Ajob that requires a large amount of physical strength
75 3. Ajob that only weak people are assigned
25 4. A job that makes everyone feel proud

Question ID : 81616113810
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate synonym of the given word.

Termination
Ans X 1. Conviction

4" 2. Conclusion
< 3. Consolation
< 4. Conduction

Question ID : 81616112494
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate option to fill in the blank.

Social isolation, overcrowding, the of our society and several other factors are
responsible for stress.

Ans X 1. attractiveness
< 2. cheapness
< 3. affordability

«# 4. competitiveness

Question ID : 81616113614
Status : Answered
Chosen Option : 3




Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

Having no boundaries or limits
Ans o 1. Infinite

25 2. Colossal
< 3. Enormous
5 4. Tremendous

Question ID : 81616113611
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate ANTONYM of the given word.

Stalwart
Ans  # 1. Cowardly
#< 2. Robust
< 3. Firm
< 4. Stout

Question ID : 81616113809
Status : Answered
Chosen Option : 3

Q.7 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. Most important, however, are its oils, which are extracted, processed, and marketed
for culinary, medicinal, and cosmetic uses alike.

B. Coconut products are used to make everything from clothing to animal feed to
beauty creams.

C. The coconut is a very useful plant with a wide range of products being sourced

from it.
D. Its kernel is harvested for its edible flesh and delicious water, while its husk is used

for its strong fibres.
Ans X 1.ADBC

X 2.BCAD
& 3.CBDA
< 4.CADB

Question ID : 81616113805
Status : Answered
Chosen Option : 3

Q.8 Select the option that expresses the given sentence in passive voice.

The man bought a parrot that could speak five languages.
Ans X 1. A parrot that could spoke five languages bought the man.

< 2. A parrot that spoken five languages was bought by the man.
25 3. A parrot that spoke five languages had been bought by the man.

«" 4. A parrot that spoke five languages was bought by the man.

Question ID : 81616113592
Status : Answered
Chosen Option : 4




Q.9 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

The sea has become / an cheap dumping ground / for all kinds / of waste products.
Ans  # 1. an cheap dumping ground
25 2. for all kinds
25 3. of waste products
< 4. The sea has become

Question ID : 81616113792
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Either the bears or the lion has escaped from the zoo.
Ans o 1. No substitution
< 2. have escaped from the zoo
£ 3. are escaped from the zoo

/5 4. is escaped from the zoo

Question ID : 81616112484
Status : Answered
Chosen Option : 2

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Won’t you / please come / to help me / along this heavy box?
Ans X 1.to help me
25 2. Won't you
25 3. please come

" 4. along this heavy box

Question ID : 81616113591
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate synonym of the given word.

Munch
Ans X 1.Drew
25 2. Flew
«" 3. Chew

< 4. Burp

Question ID : 81616112493
Status : Answered
Chosen Option : 3




Q.13 Select the INCORRECTLY spelt word.
Ans X 1.Bouquet

25 2. Abridge
< 3. Pledge

" 4. Acquarium

Question ID : 81616114117
Status : Answered
Chosen Option : 4

Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. But in snapping at the supposed treasure, he dropped the bit he was carrying, and
so lost all.

B. When he was crossing a river on his way home, he saw his own shadow reflected in
the stream below.

C. Thinking that it was another dog with another piece of meat, he resolved to make
himself master of that also.

D. A dog had stolen a piece of meat out of a butcher's shop.

Ans X 1.DACB
/< 2.BDCA
< 3. ACDB
«” 4. DBCA

Question ID : 81616114107
Status : Answered
Chosen Option : 2

Q.15 Select the INCORRECTLY spelt word.
Ans X 1. Incriminating

£5 2. Embodiment
" 3. Unpretensious
< 4. Cancellation

Question ID : 81616114118
Status : Answered
Chosen Option : 3

Q.16 Select the option that expresses the given sentence in indirect speech.

“How beautiful she is!” said Betty.
Ans # 1. Betty exclaimed with joy that she was very beautiful.
< 2. Betty exclaimed with joy she is very beautiful.
< 3. Betty exclaimed with joy how beautiful she was.

< 4. Betty exclaimed with joy how beautiful she is.

Question ID : 81616112482
Status : Answered
Chosen Option : 1




Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

One who studies the occult meanings of numbers and their supposed influence on
human life

Ans  * 1. Numerologist
25 2. Astrologer
5 3. Prophet
< 4. Astronomer

Question ID : 81616113610
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate meaning of the given idiom.

Pipe dream
Ans X 1. Adream or idea that is loudly proclaimed

< 2. Adream or idea that is nearly accomplished
" 3. Adream or idea that is unlikely to happen

25 4. Adream or idea that keeps getting repeated

Question ID : 81616113811
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate option to fill in the blank.

Advertisers often use rhyme and
Ans X 1. alteration
« 2. alliteration
< 3. denunciation

< 4. designation

Question ID : 81616112504
Status : Answered
Chosen Option : 4

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution required’.

Hears to the news tonight at 9 p.m., as there will be an important announcement about
the budget.

Ans X 1.Hearto
< 2. Listened to
< 3. No substitution required
" 4. Listen to

Question ID : 81616113594
Status : Answered
Chosen Option : 4




Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Water, a substance composed of the chemical elements hydrogen and oxygen (1) in
gaseous, liquid, and solid states. It is (2) of the most plentiful and essential (3)
compounds. A tasteless and odourless liquid at room temperature, it has the important

(4) to dissolve many other substances. Indeed, the (5) of water as a solvent is
essential to living organisms.

SubQuestion No : 21
Select the most appropriate option to fill in blank number 1.
o 1. exists

& 2. lasts
< 3. survives
& 4. endures

Question ID : 81616114102
Status : Answered
Chosen Option : 1

Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Water, a substance composed of the chemical elements hydrogen and oxygen (1) in
gaseous, liquid, and solid states. It is (2) of the most plentiful and essential (3)
compounds. A tasteless and odourless liquid at room temperature, it has the important

(4) to dissolve many other substances. Indeed, the (5) of water as a solvent is
essential to living organisms.

SubQuestion No : 22
Select the most appropriate option to fill in blank number 2.

25 1. unique
#< 2. lone
«" 3.0ne
& 4. single

Question ID : 81616114103
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Water, a substance composed of the chemical elements hydrogen and oxygen (1) in
gaseous, liquid, and solid states. It is (2) of the most plentiful and essential (3)
compounds. A tasteless and odourless liquid at room temperature, it has the important

(4) to dissolve many other substances. Indeed, the (5) of water as a solvent is
essential to living organisms.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans

K 1.by
X 2.in
&5 3. for
o 4. of

Question ID : 81616114104
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Water, a substance composed of the chemical elements hydrogen and oxygen (1) in
gaseous, liquid, and solid states. It is (2) of the most plentiful and essential (3)
compounds. A tasteless and odourless liquid at room temperature, it has the important

(4) to dissolve many other substances. Indeed, the (5) of water as a solvent is
essential to living organisms.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. ability

25 2. knack
X 3. proficiency

X 4. competence

Question ID : 81616114105
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Water, a substance composed of the chemical elements hydrogen and oxygen (1) in
gaseous, liquid, and solid states. It is (2) of the most plentiful and essential (3)
compounds. A tasteless and odourless liquid at room temperature, it has the important

(4) to dissolve many other substances. Indeed, the (5) of water as a solvent is
essential to living organisms.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1. velocity

25 2. validity
X 3. veracity

" 4. versatility

Question ID : 81616114106
Status : Answered
Chosen Option : 4






